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Tact Switch Test
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[FUERE Fort 01, StdCPLU, Pull Up, Disablelnt
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[ P1[5] Part 1 6 S5tdCPLU, High 2 fAnalog, Disal:nlelnt_.‘;i

PO[D]  Port 0.0, StdGPU, High Z Analoe, Disablelnt -

POLZ] | Port 0 2, StdCPU, High £ Analoe, DizableInt
PO[3]  Paort 0.3, StdCPL, Pull Up, Dizablelnt

PO[4] Port 0.4, StdCPLU, High Z Analoe, Dizablet |
FOE] | Port 0.5, StdCPU, Pull Up, Disablelqt

POIE] | Port 0.6, StdCPU, High 2 Analoe, Dizablelnt
FOL?] | Part 07, StdGRLU, Pull Up. Digablelnt

P1[0] | Part 1 0, StdGPU, High 2 fnaloe, Dizablelht —
P10] | Part 11, StdCPU, High £ Analoe, Dizablelnt
P1[2]  Port 1 2, StdCPU, High £ Analog, Disablelnt
P1[3]  Part 1.3, StdGRU, Pull Up, Dizablelnt

P1[4] Port 14, StdCPL, High Z Analog, Dizablelnt
P1[E]  Part 15 StdCPU, Pull Up, Dizablelnt
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~——main. c

enum eMbde{ DATAI N, TI VER} ;

#define KEY_LEFT

#defi ne KEY_UP

#def i ne KEY_DOWN

#define KEY_RI GHT

#define KEY_STOP

#defi ne KEY_START

void wait_nms(WORD ns) { for(;ns;ns--) LCD 1 Del ay50uTi nes(20);

voi d main()
{
WORD dat a=0, nask= , datax= , cursor=3;
BYTE | ast key= , mode = DATAIN,
LCD 1 Start();
LCD 1 PrCstring("Tact Switch Test");
LCD 1 Control ( ); /1 Show cursor
PRTODR = KEY_LEFT| KEY_RI GHT| KEY_UP| KEY_DOVN;
PRT1DR = KEY_START| KEY_STOP;
for (;:) {
i f (node==DATAIN) {
swi t ch( ~PRTODR&( KEY_LEFT| KEY_RI GHT| KEY_UP| KEY_DOWN) ) {
case KEY_LEFT:
mask = (mask<<4) + (mask>>12);
dat ax = (datax<<4) + (datax>>12);
cursor = (cursor+3)%!; break;
case KEY_RI GHT:
mask = (mask>>4) + (mask<<l12);
dat ax = (datax>>4) + (datax<<l?);
cursor = (cursor+1)%!; break;
case KEY_DOWN:
data = ((data-dat ax) &mask) + (data&-mask); break;
case KEY_UP:
data = ((dat a+dat ax) &mask) + (data&-mask); break;
}

LCD 1 Position(1,cursor+6);wait_ms( );

}
el se if (node==TI MER) {
wai t _nms( );
if (!--data) {
LCD 1 Position(1,0);
LCD 1 PrCString("**** TimeUp ****");
wait _ms( );
node = DATAIN,
}

}

swi t ch( ~PRT1DR&( KEY_START| KEY_STOP)) {
case KEY_STOP: node = DATAIN, break;
case KEY_START: node = TI MER;, break;

}
LCD 1 Position(1,0);
LCD 1_PrCString("**** KkxEmY

LCD 1 Position(1,6);
LCD 1 PrHexlnt(data);

}




